H - ] 8 ﬁiss’ig(;n;)fAWER PULLS

H-181

fn
B
(. O\
%
4 N R
R
= o
i 1
2-M1

H B1
P1

B2

\ |
<@> ’’’’’ {?} 2
M B RUF7IKR(PA) ‘ ‘
Tkl Ef&
ERf - ZEFrExy MR
BQEH - BIEROERARFE T,

HAREHA - YR JIINELTOE A, FIETHETEL,

HEER (5%) A1 | A2 A3 | A4 |B1|B2|P1| M1

H-181-1 RS F 1041812601 201E| 137g| 300 {30.6} H-181-1 17 | 40 | 58 | 29 | 161|197 | 179 |M8 X 1.25
H-181-2 TR F 1041812602 30 1& 85g| 300 {30.6} H-181-2 16 | 34 | 50 | 25 | 116|148 | 132 M8 X 1.25
H-181-3 s AT 1041812603 50 1@ 79g| 150 {15.3} H-181-3 11 | 34 | 50 | 25 | 102 | 134|120 M6 X 1.0
H-181-4 TR REF 1041812604 50 & 40g| 150 {15.3} H-181-4 10 28.5| 40 | 20 | 81 | 106 | 94 |M6X 1.0

H 20 HIsR Y F
- PLASTIC DRAWER PULLS

# " &

2-¢8.8

[9]
|
Q)

2-¢14.1

DN
~— ~

B1

M

P1
B2
M B RUT7 IR (PA)

Tkl Ef

fERBl - —hgtEes. s

R - HREROERERFTY,

WEHE - [TEEm

M8 F+ v FRIV b X 24, M8AAF v MX 2@

HAHE o) AR (RE) A1A2 A3 A4BY] B2 P

H-206-1 fEfssy — Y B E 1042062601 101E| 131g| 130{13.3} H-206-1 23 | 30 | 15 | 50 | 155|205 180
H-206-2 TifsR— W RERE 1042062602 101E| 113g| 120{12.2} H-206-2 22 | 28 | 13 | 50 | 127 |173| 150
H-206-3 il VAN: E S 1042062603 1218 929/  110{11.2} H-206-3 22 26| 12 | 42 | 99 | 141|120

Superior Quality, Infegrated Design ~ CAD 7—Z2D4A U O— RigZTBE5H 5 >> http://www.geoprince.co.jp &mﬂ.‘nce 327



